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PEAKEEH Finite State Machine
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5 PRAKEEH# Finite State Machine
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Homework2-1:41 4% ¥5 55 BR

> #IBEHO00MsE - =EHERF200msH - AT E 4#15600ms - MIEIR
always @ (posedge clk) begin

» FTAAMNEEE case(state)

0:begin if (cnt==10) //z%E AR F AV -

3 b t<=0; stat 1,end //t Iz R
case(expression) egin cnt<=0; state<=1;end //5 Tgﬂaj/?&}\?—ﬁﬁ%
) else
Alternafive 1: statement 1; begin cnt<=cnt+1; state<=state; end
end
Alternative 2: statement 2; L: beginend

2:begin end
Alternative 3: statement 3; default: begin end State pyEEi
e”gcase (Next State logic)
en

default:default_state;

always @ (posedge clk) begin

endcase case(state)
0: begin
red<=1; green<=0; yellow< =0;//58 E LR T E2 M
end
1:
2 E#State F 2 HS
efault:

endcase (Output logic)

end




Homework 2-2 :
Binary to Decimal code

1016 o016 ool o110 o016

TTT

- 162 =8 bl10100010; Epk=1fEZE :

- BAfuF=4" b0001;

- H{uE=4" b0110;

- {E{1%1=4" b0010 -

(B —RIEMEESE=HEFHRRHER)



Algorithm:

» If any column (100's, 10's, 1's, etc.) is § or greater, add 3 to
that column.

» Shift all #'s to the left 1 position.

» If 8 shifts have been performed, it's done!l Evaluate each
column for the BCD values.

» Go tostep 1.
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» HW 2-2 5| AFAkA 50MHz Bclock

1. fEHE Abinary - BUEEES50Hz (20ms—EFTBYbinary)
2. AofEAwhile loopll K for loop -
3. ZREEFIERf else if elseBlcaseE TR E
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